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LS802 | LS805 | LS806 | HRE (P) Uk () SIPRE ORI WNETFE
* * - 10Kpa - 1Pa 0.075% ¥ 18802
* * - 16Kpa = 1Pa 0.075% ¥ 18802
* * - 20Kpa - 1Pa 0.075% X LS802
* * - 25Kpa = 1Pa 0.05% % LS802
* * - 40K pa - 1Pa 0.05% ¢ L8802
* * - 60Kpa = 1Pa 0.05% ¥ 18802
* * - 100Kpa -90KPa 10Pa 0.05% X 1LS802
* * * 160Kpa -90KPa 10Pa 0.05% X 1LS802
* * * 200Kpa -90KPa 10Pa 0.05% ¢ L8802
* * * 240Kpa -90KPa 10Pa 0.05% ¢ 1L.S802
* * * 0.4MPa - 10Pa 0.05% ¥ LS802
* * * 0.6MPa - 10Pa 0.05% X LS802
* * * 1.0MPa - 100Pa 0.05% 1% 18802
* * * 1.6MPa - 100Pa 0.05% X LS802
* * * 2MPa - 100Pa 0.05% 1 LS802

- * * 2.4MPa = 100Pa 0.05% -
- * * 4.0MPa - 100Pa 0.05% -
- * * 6.0MPa - 100Pa 0.05% -
- * * 10MPa - 1KPa 0.05% -
- * * 16MPa = 1KPa 0.05% -
- * * 20MPa - 1KPa 0.05% -
- * - 40MPa = 1KPa 0.05% -
- * - 60MPa - 1KPa 0.1% -
- * - 100MPa = 10KPa 0.1% -

* - 160MPa - 10KPa 0.1% -




